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TNG 16 | SS | B5%7 1,000 | 84 | [TNG3 S | FEPA 2,000 | 48| |ING121| M | &% 2,600 | 124
TNG 17 | SS | ZFE 1,000 | 88 | |TNG 4 S | 7X7h 2000 | 72| |[ING112] M | #FU#EEC 2400 | 82
TNG 100| SS | 57 >K3N7 1,000 | 79 | |[TNG8 S | YR Y—T1> 2000 | 83| [TNG113] M | f=##EsER 2,400 | 90
TNG 22 | SS | &&E 1,000 | 111 TING15 | S | BXZ 2000 | 85| [TNG114| M | JEB5E 2,600 | 71
TNG 25 | SS | JILT7 (%) 1,000 | 86 | [TNG18 | S | 7ARANI— 1600 | 82| |TNG2 M | PARKRYT— 2400 | 76
TNG 28 | SS | Hvh— 1,000 | 79| |TNG19 | S | #E 2000 | 52| [TNG13 | M | &&V 2200 | 77
TNG 39 | SS | Kk (%) 1,000 | 76| |[TNG105| S | /7 (%) 2000 | 88| |TNG43 | M | #8#&% 2200 | 78
TNG 40 | SS | Kk (%) 1,000 | 76| [ING27 | S | =T+1> 1,500 | 80| |TNG97 | M | LARUYY 2200 | 75
TNG 44 | SS | 4 1,000 | 62 | [TNG30 | S | 5% 2000 | 76| |TNG98 | M | #15 2,400 | 105
TNG 45 | SS | VI7hR=IL(5) 1,000 | 79| |TNG36 | S | & 1,500 | 84| |TNG34 | M | BE®E 2400 | 54
TNG 46 | SS | V7hAR—JL (%) 1,000 | 78| [TNG41 | S | A¥— 1,500 | 76 | |TNG116] M | FEF 2,800 | 103
TNG 51 | SS | &3k (%) 1,000 | 90 | [TNG42 | S | AF—b 2,000 | 53| |TNG106| M | 77+ 2,200 | 57
TNG 52 | SS | &3 (%) 1,000 | 83| |TNG48 | S | A& (%) 2000 | 89| [TNG108| M | #KEHX 2,800 | 87
TNG55 | SS | 7=A(%®) 1,000 | 104 | |TNG49 | S | ##& (%) 2000 | 87| |[ING111| M | /B 2800 | 92
TNG 56 | SS | 7=A (%) 1,000 | 101 TNG101| S | VI FILEVA 1600 | 87| |TNG118] M | 8% 2,800 | 76
TNG 58 | SS | h&F&ES 1,000 | 99 | |TNG102| S | IFVEVA 1600 | 98 | |[TNG119| M | &4 2800 | 70
TNG 64 | SS | /\YRKR—IL 1,000 | 99| |TNG53 | S | F7H—WL 2,000 | 96| |TNG120| M | Bx 2,800 | 70
TNG 65 | SS | NATvhAR—=JL (%) | 1,000 | 80 | [TNG57 | S | =&/ 2,000 | 67

TNG 66 | SS | NAFvhAR—JL(%) | 1,000 | 108 | [TNG60 | S | /\k 2,000 | 60

TNG 67 | SS | Nv&— 1,000 | 111 ING72 | S | NLU—F 2,000 | 79

TNG 68 | SS | /SRIVRV (B) 1,000 | 84| |TNG75 | S | EUY—RK 2,000 | 63

TNG 69 | SS | /NRIVR (%)) 1,000 | 80| |[TNG107| S | Ry >T 2,000 | 73

TNG 70 | SS | SL—AR—IL(5) 1,000 | 94 | [TNG9O | S | Edb/OR 1,500 | 86

TNG 71 | SS | NL—FR—)b (%) 1,000 | 103 | [TNG92 | S | Fvb 2,000 | 86

TNG 76 | SS | EyFv— 1,000 | 90 | |TNG93 | S | ZYE— 2000 | 78

TNG 80 | SS | KUU>J () 1,000 | 82| [TNG99 | S | 7> 1,500 | 78

TNG 81 | SS | KUY (&) 1,000 | 76

TNG 83 | SS | &t 1,000 | 104

TNG 84 | SS | EExw 1,000 | 110

TNG 85 | SS | Eig&# 1,000 | 105

TNG 86 | SS | VO/\>&i% 1,000 | 110

TNG 87 | SS | R&EXH 1,000 | 107

TNG94 | SS | F¥F+— () 1,000 | 76

TNG95 | SS | I¥7— (%) 1,000 | 80
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